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Ω1 = 10.8 · 5 · /2 = 27, a1 = (2 + 5)/3 = 2.333, b1 = l1 − a1 = 2.667,

Ω2 = Ω3 = 2fl2/3 = 125, a2 = b2 = a3 = b3 = 2.5.
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l2M1 + 2M2(l2 + l3) +M3l3 = −6(Ω2a2/l2 +Ω3b3/l3).
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Q1 = Qp1 + (M1 −M0)/l1 = Qp1 + (7.301− (−80))/5 = Qp1 + 17.46,

Q2 = Qp2 + (M2 −M1)/l2 = Qp2 + (−39.325− 7.301)/5 = Qp2 − 9.325,

Q3 = Qp3 + (M3 −M2)/l3 = Qp3 + (0 − (−39.325))/5 = Qp3 + 7.865.
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Y1 = 40 + 22.86 = 62.86, Y2 = −13.86 + 20.67 = 6.81,

Y3 = 39.32 + 37.86 = 77.19, Y4 = 22.14.

{ � ��o�$$ #m r� �$om'x#(t �&x )m�$&|rm�! &(!!( � ��o�$t r&�}
r#�~#$} &$'s ��%&�r(t"$} #m qm'o(s

∑

Yk = Y1 + Y2 + Y3 + Y4 − P − 4 q2 − 10 q1 =

= 62.86 + 6.81 + 77.19 + 22.14− 9− 40− 120 = 0.


